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Riccati

1BA4%%, T 4%

( , 362021)
(Riccati) Y = p(x)y*+ q(x)y+ 1(x) . p(x),q(x). r(x)
Riccati ;
0 241.8 : A
Riccati y/ = p(x) y2+ g(x)y+r(x) . 1841 Liouville
y/:x2+y2 . plx)= l,q(x):O,r(x):x2 Riccati
[ 5] , ) ,  Riccati
( Bernoully)
; ; Psqs 75 250 x o p(x).q(x), r(x),2(x), u(x),
1 D, qr r/p= - (exp(fqu))z, Riccati ,
y = [exp( |qgdx)( 1+ Cexp(ij exqudxdx)]/[l— Cexp(Z.[peprqu dv)].
2 D, qr r/p=— exp(ZJqu), Riccati

y= Lexp(J2pexp fode )+ @) [pexp [ exp fodv + g) drjder '+ expf fqds).

3 p.r p=-=2r/(|rdx)’
y = peXp(I— gdx )y + gy + reijqu (1)
, y = expfqu(c_%— Irdx), M= exp/- j(zpfrdx)dx].
4 pagr lepJqu= rjpdx,
f'(y)(%= pf(y)"+ qf(y)+reXp(J— qdx) (2)

f(y)= (|rdx+ C)/[exqudx— jpdx( rdx+ C)].
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2
2.1 1
y= FEu,u « , E= exqudx, y/: Eu+ Eu. Y, yl Riccati
u=pE(d+ 2,2) Lu=pE(u’- 1), , u= y/E,
p

(y—E)/(y+ E)= Cexp(2|pE dx), E = exqudx ,

y = [exp(jqu)(1+ Cexp[ijeprqu]dx]/[l— Cexp(ZIpeXpquxdx)].

2.2 2

/

y= u+ exp jqu, Y = u+ qexqudx, y, ¥ Riccati ,
- qexp.[qu - b+ ZueXpJ.qu v exp(2[qde) )+ qru+ exp.[qu)+ .
u = pu’+ (2pexqudx+ q)u. n= 2 , u' = exp/- J(zpexpj-qd“
q)dc]{C- peXp[J(Zp eijqu + q)dx]].

v= el Jgespfote+ gpavire= [pespr [2pexp fadr graczany ™+ expfas.

2
: 1 2 , ,
2.3 3
D, q,T (q/p)’: -, Riccati
y = [(eij— qdx)/ (C— |pexp(- jqu)dx)]— a/p-
(q/p),: -, Riccati , (y+ q/p)/: py(y+ ¢/p). u=y+ ¢/p,
u=pu’- qu. n=2 , w' = exp.[qu[c— pexp(— |gdx)dx/,

y=u=a/p = expl [~ qie)/(C= fpexpr= oy~ o/p.

3 . Y = qr+ rexqudx, y = eXpJqu( rdv+ C).
C C(x), Ly = qexqudx( rdx+ Clx)) + exqudx(r+ ix)). v,
y (1) C(x)= pC(x)+ 2plrdeC(x)+ p(Irdx)’. C=p C+q C+
r, p == 2r/( |rdv)?, (¢ /p ) ==1r". C(x)= M/(C- |pMdx) -
2|rdv, M= exp(- ZpIrdx). (1) y= explqde(M/(C- [pMdx )= [rdx).
3
2.4 4
£ ()= pf (), : fly)= V(C= |pdv). ¢

C(x). R O a7 rotes rorod (2)

C(x)=- rexp(J‘— qdx)C’(x) +
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(2rexpl [~ qde) [pde= q)Clx)+ (4= rexpl [ qde) [pav) fpx.
qexqudx = rIp d, C (x) =- rexp( I- qdx)C’(x)+ ¢C(x). n=2
, C(x)= exqudx/( rdx+ C), (3)

f(y)= V(C(x)- J.pdx)z ( |rdx+ C)/[epr.qu— pdx(|rdx + C)].

4
3
’ 2, 1 3
1 y=ay+ Ty -
_ _ 1 3 _ 2
SP= X q= T A 1 r/p——(eXpJ.qu),
1 1 2’
exp|(—)dx( 1+ Cexp/2|xexp|(—)dx dx]) x(1+ Cexp 3 )
x x
Yy = 1 = 2x3 .
1- Cexp[ZIxepr(x_)dx dx / 1- Cexp =Y
r_ =2 1 2 2 15
2 y = x3exp[—(3x+x)]y+(x+1)y+4xexp(3x + x)
p= - 2/x°, r= 4, 3 p=-2r/(|rdx)?,
y= exp(%x3+ ¥)[- 2+ 2(Cr x3)].
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Integrable Criterion of Riccati Equation
WU Jirtang, LUO Ming fu

(School of Mathematics Sciences, Huaqiao University, Quanzhou 362021, China)

Abstract:  In this paper, we study the integrable criterion of Riccati equation. By finding the relations among functions
p(x), q(x) and r(x), we get some practical integrable sufficient conditions and obtain the integral expressions for these e
quat iong general solution. Finally, some examples are given to verify our conclusion.

Keywords: Riccati equation; general solution; sufficient condition; integrable criterion



